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My eight-year-old *nephew, Ryota, lives in the U.S. His father works for a computer
company in San Francisco, and his mother teaches art at an international school. He is the
only Japanese student, so he must speak English in the school. (1>Ryota has lived in San

] he was born, so (z)he speaks both [ A Jand [ B ]. He speaks [ A ] at

Francisco [

home, and [ B ] at school. He goes to (3)8 local school near his house. He has enjoyed his

school life there.

Last week Ryota and his mother came back to Japan to stay with us for their summer
holidays. We were very happy to see them. My son, Ken, is as old as Ryota, so he enjoys
the exciting days with his *cousin from the U.S. They love to watch Japanese TV programs
together. I think they have the same (4) Lastes in TV.

But they cannot play from morning to evening, because they both have homework! Ryota
is not good at math. Yesterday he was trying to do his math homework, s [ ] hedidn’t

understand it. He asked me for help. I read and saw American math homework for the first

time. His answer is shown in C and my answer is shown in D.

C 10-2x3+1 D 10 -2x3+1
=8x4 =10-6+1
=32 =5

That was a very simple question, but I had to explain in English. How difficult it was! I
learned a lot of things from the elementary school homework. I was interested in his homework

and (4 [it / could / not / stop / I / doing]. After a couple of hours, I found that his math

homework was already done. (7) Ryota was so lucky yesterday.
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7 A Japanese B :  Chinese

4 A English B Japanese

7 At Chinese B Japanese

I A Japanese B ©  English
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7 aschool for kids from foreign countries A aschool for kids who can’t speak English

77 a school for kids living around it I a school for kids who can speak two languages
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7 and 4 or 7 but I so
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M8 Takako & Shinji 7%, Ryota 25714 I 2% L7ZHEHIZOWTEHE L TCWwET, TNEFHATE
D(1), CNIFER TSV,
Takako : I don’t like math but I know the right answer is D. Why is the answer 32 in C?

[ T ] does it come from? Do you understand, Shinji?
Shinji @ Yes, of course. Why did he make a mistake? I'll show you the point. First, he
did *subtraction and *addition. And then, he *multiplied 8 by 4, and his answer

was 32.

Takako : Isee. So [ T ]

Shinji : Yes! When you do *calculations, you must follow the math rules. That is so
important.

*subtraction : 51 &% addition : JE L& multiply : 2JHE T 5 calculation : F5
(1) [T 1 U TRIELHENETOT~ZOHPS—DFY, LT TEX LSV, ()
7 Where 4  How 7 When I Who
2) [ I ]ICHETEELBEULRLETOT ~FDHNED0EY, L TEHERL IV,
C )C )
7 right answer is always difficult to tell. A I should forget to multiply 2 by 3.

NG

you must multiply 2 by 3 first. I at first Ryota did addition and subtraction.
7 Shinji did not understand the Ryota’s answer.
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